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public class Car |

private in’r’E Inlagtgﬁh;
private int width; v —)[,IQ
- private int hight; 1
77"2;(1@@11? private int displacement ;
;l//\(iprlvate public int getlenzth() { N
)“/“JHipublic | return length;

public void setlengthiint lenzth) |
this.length = length;

public int zetWidthi) {
return width;

. P e
ﬁj_/lé—\c!}fgﬁgt;t(e;_%etter ;luhItlh[:i;j]wlitétﬁe’iw:vt?mﬁl;nt width) {
g ' public int getHight () { — AUk
XEOU“JO_’[\/_Z] return hight;

~ N S }
—[getter&S K UsetterDAE L]  public void setHizht (int hizht) {
this.hight = hight;

public int zetDisplacement () |
return displacement ;

public void setDisplacement [int displacement) |
this.displacement = displacement ;
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List<V SR> A2 AR A4 = new ArrayList<7 5 X>();
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import java.util.;/Jjava.util)iw T — 3% 4 oh— FLTHC

public class Test |
public static void main(Stringl[] arzgs){
List <Car> carList = new ArravList<Car> )/ hrravlist@ 4 2 4 2 F4ER

for(int i = D s 0 <10 i+ Car S 2D 0 2R T 2 NEE R
Car car = new Car();

car—cotbunhor(115//F )i — #58%
carList .addicar);//irravlist [CiBA0T . add)“/‘JI‘TT—/)-UE j]l]
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Svsten . olbimpteam—gadtiunber () ) ;
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= new HashMap <F—, 75 X>();
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import Java.util.e;/Fdava.utilini e T =% 4 o —FLTHEC

public class Test |
public static void main(String[] args){
HashMap<Integer, Car> carMap = new HashMap<Integzer, Car>();//HashMap® « 32 4 2 4

for(int i = O <I0 i++){//Car D5 2 M 4 2 50 A I0EER

Car car = new Gar(]'

sakraatiupbortim -+ ) — FEETE

carllap.put (i, car)|//Mashiaple ¥ — & & & [CH8#F 5. put AV YR THx—Ex4 69 5
for(int | SrB——t—i—pe izel() 3 i++ ) _/)71&)57][]

Car car |= carMap.get (i) HashMap|c F —Ff5E L TH L H 5.

Svsten. Seérer ==t Number ()] ;
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BufferedReader7 5 X% I .
BufferedReader 12 X2 X
= new BufferedReader(new FileReader(“77 1 JL&"));
» T7A4ILH T
PrintWriter 5 X% #I| F

PrintWriter 1 > AR X
= new PrintWriter(new FileWriter(“2Z 71 JIL4"))
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» StringTokenizer7 S A TR 5T 5.
StringTokenizer 12 A3 X 4
= new StringTokenizer (72 fi# Xt R X F5);
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import java.io.#;//java.iosi o T - UFERAHIAATEC
import java.util.#;/fjava.util)io T —UFEEALATHC
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public class Test |

puhlsitt:lstalti[:tvuldt matln(Etﬂpfs[E argﬁszll_fT P >3v,5,87,50
- H :'" sl =] - :
String output = “copy.csv’i A7)V, 55,70,77

___________________________________

try]
BufferedReader inputLine = new BufferedReader{new FileReader(input));
PrintWriter outputline = new PrintWriter(new FileWlriter{output));

i:«;n;!ﬂ; 83, StringEH] inel- 867 7. BT X FIERELT
'.'.'thE”| e = |nr;utL|rnlggreadLllr?:f‘.l 1= pul )] ’f/Z'sl/XEEJ-jZ
StrlnETnkenlzer st = new StrlnETnkenlzer’flme SAlinew HE|DWHRICT S.

String name = st. ne:{tTDken( L I )

String sex = st. ne:{tTnken( - ffE@EEtIIU R

String japanese = st. ne:{tTDken( NHIE {

String mathematics = st.nextTaken(™,”);
RA=I o o o MY (e i P P e

outputLine.print Intnamet 7,7 + sex + 7,7 + japanese + 7,7 + mathematics);

AT IR A 77 0 ILFEL &
inputLine.close();
outputLine.close();

tcatch(I0Exception e){
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import java. io_#*;  java. jo w -0 E
import java.util ®; Fjava utilsf o —
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public class Test |
public static void main(String[] args){

List<Car> carList = mew Arraylist<Car>()://F— 2 HinA) 2
String input = "carSample.csw" ;X StringBI T D s A I E BIEET S
String output = "copy.czw";

try{

BufferedReader inputline = mew BufferedReader (mew FileReader (inputl);
PrintWriter outputLine = mew PrintWe iter Cmew FileWriter Coutput));
String line;

line = inputLine.readlinell; /Feo A =5 AT
outputline.printinClinel; /F o S B 34T

SEfTT 2E &AM
while((line = inputLine.readline() M= muwl 1) {//String® & line|ZfHiAT 5.
StringTokenizer st = mew StringTokenizer(lined://linem w2l D& [ZT 5.

Car car = mew Car()://CarD 2 2 M4 0329 0 A &1ERE
7= FNEFETS,

car. setMumber [Inteser. nargalfnt st nestToken("."1713
car_setlengthllinteger. parsafntl stonextToken(",")00;
car_setWidth(Integer. pargafnt st.nextToken(",")17);

car. setHight(Integer. pareafnt st nextToken("."120;
car_setDizplacement (lnteger. parsafntl stonextTokent","200;

Lizt. add Tra =3 ~Stri
,  oarList.addloan)i/fU A b IZREMT 3 Integer.parselnt TStringZ! %

I —
foarlistmeP & EIBICHED T 3, Integerﬁ;‘k”i?ﬁ?’é.
for (Car car - carList){

outputline. printCcar. getHumber () + ","3;
outputline. print(car. getlength() + ","7;
outputline. printCoar. getWidth() + ", ");
outputline. printCoar getHight{) + "."2;
outputline.printincar. getDisplacement (1) ;
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inputLine.closell;
outputline. clase(l;

leateh(l0Esception el {
\ System. gt printInC" 7 = 7 DRI E B A"
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